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Section I : Language (20 Questions, 40 Marks)

Passage :

What do three hearts, eight arms, and one
huge brain add up to? An octopus, a creature
that can do amazing things. Octopuses are
extremely intelligent. They can learn new
things just like humans. They’ve even learned
a few tricks to get them out of sticky situations.
If an octopus is threatened by a predator,
such as a shark or bird, it can use some pretty
incredible skills to get away. Octopuses don’t
have teeth or sharp claws to defend
themselves. Instead, they use more clever
ways to fool their attackers. Octopuses like
to hide themselves in the sand on the bottom
of'the ocean floor. How you ask? Well, the
octopus is like a chameleon because it can
change the color ofits skin to match the sand.
And this color change, or camouflage,
happens in less than a minute. Some
octopuses like to stay in more shallow water
where there are rocks and coral.

Another way an octopus can hide is
by shooting ink. An octopus uses a part of its
body called a siphon to shoot ink into the
water. The ink forms a cloud that hides the
octopus. By the time the ink clears and the
predator can see again, the octopus has swum
away or hidden. It’s very much like a
magician doing a vanishing act.

If you think that’s a neat trick, then
you’ll love what else these creatures have up
their sleeves. Ifan octopus is being attacked,
it can actually make itself look like a
venomous seasnake. It will bury itselfin the

sand, keeping two arms visible. It will change
the color ofthose arms to match a sea snake.
But what if there’s no time to hide? If an
octopus is in trouble, it can break off one of
its arms. The arm will then change colors and
squirm around in the water to distract the
predator while the octopus swims away to
safety. Don’t worry though. The octopus’s
arm will grow back. There is one kind of
octopus that has venom to use in defense.
The blue-ringed octopus is tiny; it could fit in
the palm of your hand. Predators might think
this size makes the octopus a great snack,
but they know to stay away. The blue-ringed
octopus is very poisonous and can kill
predators much larger than itself, including
humans. So the next time you see an octopus
in the aquarium or while you’re snorkeling,
remember that inside that oversized head is a
very large brain, making them a clever
addition to the sea.

Questions :

Q.1

How are an octopus and a chameleon
alike? DO
1) They both like to hide on the ocean floor.
2) They can both change the color of their
skin.

3) They are both invertebrates.

2)They both use their arms to kill predators.

Why is the octopus said to be an
intelligent creature? DO20®
1) It can learn new things like humans

2) It skillfully escapes from powerful
predators




Q.3

Q.10

3) They use a few tricks to get them out of

sticky situations.

4) All correct

What is the most appropriate antonym of
“predator’? 0016
1) prey 2) Pray

3) attacked 4) attackers.

What happens to an octopus if it loses
one of its eight arms? 0016
1) It will grow a new one.

2) It will die.

3) It is no longer poisonous.

4) It can swim faster

What is the author’s purpose for writing

0[0O]6)

1) to explain how octopuses eat, live, and

play
2) to show how dangerous octopuses are

this article.

3) to describe the physical characteristics of
octopuses
4) to explain how octopuses protect
themselves

Which of these pairs is rhyming?

DOO@
2) berries — buries
4) Peep —reap

1) Flower — flour
3) Peaches — pitches

Which of these words does not belong to

the register of ‘Kitchen’ DO
1) knives 2) plates
3) dining table 4) wardrobe.

Which of these pairs of words are
homophones? (word with similar
pronunciation but different spellings and

meanings) DOOB®
1) Would — wood 2) read - ride

3) like — leak 4) card — chord.

A word similar in meaning to ‘Journey’
will be 0016
1) roam 2) travel

3) trip 4) all convert.

Adding an appropriate prefix, form the
antonym of ‘perfect’. 0016

Q.11

Q.12

Q.13

Q.14

Q.15

Q.16

Q.17

Q.18

1) Unperfect
3) imperfect

2) inperfect
4) misperfect.

Complete the sentence using the correct
degree of comparison of the adjective in

bracket. DOOB®
Arjuna was the among the
Pandavas.

1) bravest 2) braver

3) more brave 4) brave.

Complete the sentence using appropriate

prepositions. 0016
I)in 2) between

3) with 4) at

Which kind of adverb is the underlined
word? D@
The dancer performed gracefully on stage.
1)Adverbofdegree 2)adverb ofplace
3) adverb of frequency.

4) adverb of manner.

Complete the sentence using the present
perfect tense form of the verb in bracket.

The bird ------------- (to fly) fromthe cage.
0000

1)is flying 2) flies

3) has flown 4) flew.

In which of the given sentences has the

verb been used intransitively. D QR @
1) The children’s performance makes me
happy.

2) The kite glides gracefully in the air.

3) The book has good stories.

4) The mother of three kids was tired.

Unscramble the letters to form a word
indicating the sound of thunder.-

BUMLER 0016
1) Rumble 2) mumble

3) bemler 4) lumber.

What is the book in which the daily events
are recorded called? DO
1) Calender 2) memento

3) diary 4) record book.

The proverb, “Slow and steady wins the
race” means - DO
1) One must be slow to win a race.

2) Slow and steady people only win a race




Q.19

Q.2

Q.3

3) One must be steady and slow.
4) Steady efforts will surely help you to
achieve success.

1)4
3)9

2)5
410

Q.20 Which alphabet can fill the blank to form

How many conjunctions are hidden in the two different words? DO20®
maze? 0]O]O]6)) BLAS HORN
S [B]E|JCJAJU]S JE DE 2)C
QU | 1| T|N|JE|T]O 3)T DY.
N [T [w] S|D|J[L]I]N
F |1 L|L|[s|Pp|L|Z
clulT|Oo|P|F[L|Y
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Q.8

Q.10

Q.11

Q.12

Q.13

Q.14

Q.1

Q.2

Q.2

Q.3

Q.3

WIHEEA 918 HIN A 3’MR? DOQG)@ | Q.15 ‘= Afg™ A0 Fes' = TEUit TwHTOl HIUTd
1) Hg T 2) G T TEU HEAIIH TR ? DOB@
3) SareH 4) BXTD. 1) TR S TR 913 foreA,
Te wuE ST gERe?. DO0@ 2) 3T I8 T FIH HIE.
1) woft e 2) qoft ErEe 3) SR i e
3) ot e 4) TR S 4)) e foel .
W vrearE AR yrsaren wared | Q16 e’ o vieaTea ke 3tedf vise shiutan?
ITeg 3. DOR@ 1) e 2)3TTROQBD
1)@ 2) 7 3) e 4) BH
3) 4) T Q.17 iR U SRToA= GUTR ST ——--—- o
1979 Hewen e TRERR R0 Tt ? e 1T 3. 0Ol
DO IqTd WU VT T ST ?
1) sl & 2) TRiEAY TR ne 2) &
3) T S 4) e Tieh 3) @i 4)
e ST et e am 2 | Q18 TEIEER F w0 FA? - DOO@
1) e 2) T HODO@ 1) e e 2) = A
3) 3 4) % 3) g et 4) foRt Tiedt
ST S ) o T e de | Q19 I SR oo TH E. D@
TN 319} SRR 3T ? 0000 1) #eg 2) TSy
1) 3@ 8o 2) T a9 3) 7 q 4) i
3) T R 2M 4) FR1 e Q.20 ARehT=A TR Ueh Y168 hIUTAT?
TERIETE TS hive 3?2 DRQ)@ DRX 2)T® 000®@
) & 2) Wi 3) e 4) g
3) sl 4) G
Section II : Maths (30 Questions, 60 Marks)
91191 11 : 3IfS1d (30 U9, 60 II01)
5+0.05="? DOO® 1)-6>-5 2)0>-7
38(1)1 42‘)180 3)0<+1 4)-5<5
Wh. e dif b) Q.4  The price of 100 plants is Rs.80, What is
at is the difference between the place the price of 60 pl ?
value of 7 in the number 71.17? l)eRlS),rnge ° plants 2) Rs48(D®®@
DOB®® 3) Rs.45 4) Rs.42
71.17 1 A 7 =1 TATfeh fehueimencs Q.4 mlgomﬁgﬁwmmmm
TR el O]0OO[0) Fert fFm fFR aEe 2 D000
1) 70.07 2) 69.07 1) %.84 2)%.48
3) 69.93 4) 69.03 3)%.45 1) %42
Which of the following is wrong ? Q.5  Ifthe perimeter of a square is 360m. Find
ON]O]0) its area ? DB
WUkl Tehlen T@ia HITE?(D )G @ 1) 1800 sq m 2)720sqm




Q.5

Q.6

Q.6

Q.7

Q.7

Q.8

Q.8

3) 8100 m 4) 8100 sq m
360 T aRfE sraee SRET SeTthes fehdt
B ? DOB®®
1) 1800 = @ 2) 720 = .
3) 8100 . 4) 8100 =10,

Find the cost of polishing a black board
whose length, breadth are Sm, and 4m
respectively, the rate of polishing is

Rs.10 per sq m. 00O6)
1) Rs.180 2) Rs.200

3) Rs.300 4) Rs.500

5 T e 9 4 .88 39N Feedlohl SR S&l
& ufd =i, w319 e ifen wyuadars
FIEEfFf T ®E 2 OO0
1) %180 2)®.200

3) %300 4) ®.500

In the adjoining figure, which of the

following is true ? O20®@
A

B C

1) mzA=45" 2) m/A=m/B

3) mZA+ m~sB = 90°4) Allare true.

Tert UATeR fehma 25 .31G Ueht Uf=achied
125 T oTR. W Uerean Tehmdier AFSem
ol TTUTeR et DOBR@

A

o <h

1) ms3 = 45° 2) mzA= ms/9

3) mgA +msI=9(°

4) w4 vafg SRR 3.

Which of the following is not true.
O]0OO0)

WIS ST T Taeh! ard A2

00Ol
D9+ (-6)=(-15) 2)(-9)x(-6) =+54

Q.9

Q.9

Q.10

Q.10

Q.11

Q.11

Q.12

Q.12

Q.13

Q.13

3E--6)=+15 4)(-9)=(-3)=+3

Which of the following algebraic expres-

sions is binomial ? 0016

WUkl hiuTl sfseh T9it fEudt eme?
0OO]6)

2) x3 +y2

4) (x)°

difference

1) 2y
3) X’ +y°
Find the
x> -2xy +y* and x* +2xy +y’.
O20®
X -2xy +y? ST x242xy+y? A EH
AT Widie w F@.  DOO@
1) 2x* +2y°

between

2) 2x* +4xy+2y°

3) 4x’y’ 4) (-4xy)
Which of the following is an equation ?
0000

TSioueh e 3eEl. DRR)@
_10 _10

1)2= s 2)5 5

3)2x=10 4) 5x2=10

Find ‘m’. m-4=12-m. 0016

1)8 2) 16

3)6 4) Not possible

7 = fohaa wr@l |1 -¥ = ¢ - W.

138 )16 OOR®®

3)6 4) =hie 4 @,

Find the relation between radius of a
circle and diameter of the same circle.

radius _y D@
diameter
2) radius = 2 x diameter
3) diameter < radius
4) diameter = 2 xradius
TehTS! SlqjoaTell T o ST il TREu Haiel
BT ST ? 0l0lOl0)
1) i) 2) o = 2 x =
=
3) = < fiwm 4) & = 2 x B




Q.14

Q.14

Q.15

Q.15

Q.16

Q.16

Q.17

Q.17

Q.18

Simplify : DO0@
140 + [(-11)x(-3)—(-42+14+8)]
et - 0OO]6)
140 + [(-11)x(-3)—(-42+14+8)]

1)4 2)5

3)-4 4) -5

Jasmine purchased a dozen Roses for

Rs.30. find the cost of such 40 roses.

0000
1) Rs.120 2) Rs.100
3) Rs.90 4)Rs.110
R T S5 ToETE B T Sui
w BEH? 0]0]O]0)
1) %120 2) %100
3) .90 4)%.110

Roshan purchased 60 litres of milk at
Rs.25 per liter. She sold all the milk for
Rs.2050. Did she make a profit or a loss?

How much? 0016
1) loss Rs.850 2) profit Rs.550

3) profit RS.850 4) loss Rs.550
A 25 &.1fd fe T hoe A6 fsx
T 2050 U s @ foaot femedt T
3R fhet dter Zamen ? 01006)
1) qrR1 %.850 2) TR %.550

3) T €.850 4) WA €.550

Which of the following is true?(D 23 @
1)1.2=120%
2) Loss = selling price - cost price
4 1
3) 05 8
4) 12% of 120 = 144.

WG UM AL T 3R ?
1)1.2=120% DOBR®
2) e = foshl - &

4 1
0578
4)120 9 12% = 144

How many pairs of vertically opposite
angles are observed in the given figure?

Q.18

Q.19

Q.19

Q.20
Q.20

Q.21

Q.21

Q.22

Q.22

Q.23

00OO[0)
DISTRI® 3Meheial for6es shiTean fehelt St

3ME&eadid ?

0 00O
C B
2)8
4) 6

1)4
3)2
How many angles in the adjoinning fig-
ure are of measure 7(0°where line ‘/° ||

0[OO6)
SR P || 3 370 TR ISR STl
TR 3091 AT feRelt hiA 3@ ?

0[OO]6)

line ‘m’?

1 2)2
3)3 4)4

Simplify : 69x225+775x69. DDA @

WES :69x225+775x69. DOBQ
1) 69000 2) 69225
3) 70225 4) 70000

Express 243 in the index form as base 3.

0IN]O]0)
243 & GE&A 99 TR ESAT AdiehTeAl
wu fosa. DOB@
1) 38 2) 3x81
3) 3 4)9%27
Which of the following numbers is divis-
ible by 3 and 7 both ? DO20®
WIHAUGH! ST G diF & A 1:918

T S 2 DRO@
1) 441 2) 144

3) 462 4) 426

At what rate of simple interest will




Q.23

Q.24

Q.24

Q.25

Q.25

Q.26
Q.26

Q.27

Q.27

Q.1

Q.1

Rs.4500 amount to Rs.5400 in 4 years?

3) 200 4) 220

00O0) )
1) 5% p.a. 2)4%p.a. . 25— )
3)6% paa. 4) 8% p.a. Q.28 Raj bought a pen for Rs. 5 and a ge
forelt T oIR auid TS ¥uoo &, &t 1
ometry - box for Rs.89—. How much
T LYoo T TS ? 001010 4
1) 5% 2) 4% money did he spend ? DOOB®
3) 6% 4) 8% 1)Rs.114.50 2)Rs.114.25
3)Rs.114.75 4) None of these.
100% of which number is 100 ?
1 1
. . N (D@;@@ Q.28 A 25 FUATHT TH 97 g 89 %. @
HIAT EA™ TW Tk U 100 . .
STEe? D@ ettt shum 92t fareRa S, @M
1) 100 )1 TR fehet Tl kel ? DOB®@
3)0.01 4) 10 1) 114.50=. 2) 114.25%=.
3) 114.75 %. 4) T T,
Find value of 4x? + 20x + 25 when x=11.
DRR@ Q.29 Are the numbers 3,8,9 and 25 in proposi-
tion? D@
fehTa W@l 4x2 +20x+25 : x=11 1) yes 2) No
1) 225 2)270 DB @ 3) Can’t be said 4) yes or no.
3) 729 4) 704 Q.29 3,8,9 & 25 I HE&A! THIUT 33 <l ?
Find LCM 0f120,90,175. D®3@ D )T D@
120, 90 3fUT 175 a1 EEA™N &, 91,14, . 3) ST 3 . 4) 1 it T
1) 15,000 2) 5350 DB @ | Q-30  Which of the following is true ?
3) 25,200 4) 12,600 1)Rs.5and Spaise=Rs.5.5 DQOR@
in2 2) Rs.15 and 15 paise = Rs.15.51
A potter makes 500 pots m. 50 hours How 3)Rs.5 and 50 paise = Rs.5.05
many pots does he make in lgggs@; 4) Rs. 5 and 5 paise = Rs.5.05
: . 30 TR dea faum Hiua?
Teh hUR 250 A 500 TSeht sl & Q D2O®
1)5%59. =5.5%.
A 105 T foRdt At 95?2 DB Q)
2)15%.15%. = 15.51 &.
1) 120 2)210
3)5%.50 1. = 5.05 %.
4)5%59. = 5.05%.
Section III : Science (30 Questions, 60 Marks)
91181 111 : farsirer (30 w9, 60 3got)
The process of taking in and 1}tilizing foog 1) @m 2) S
for growth and development 1s(anng1;) ZSD. 3) 7o 4) e gd
1) Ingestion 2) Nutrition Q.2  Which of the following can lead to a
3) Digestion 4) All of these greater risk of heart disease? QR @
> . 1) Regular exercise  2) Eating fatty foods
_________ : - EE - IR : ia i 3) Eating fresh food
P a 4) Wearing dirty clothes
e DO®@




Q.2

Q.3

Q.3

Q4

Q4

QS5

Q.5

Q.6

Q.6

Q.7

Q.7

Which of the following is a symptom of

vitamin C defiency ? DOOB®

1) Poor vision

2) weakness of muscles

3) Bleeding gums

4) Bones become soft

——————————— ? & SloHa=A

I IR 0OO]6)

1) At g 2) STIH

3) T WA A 4) greie g

Vitamin B group deficiency in human diet
0006

1) anaemia 2) Rickets

3) Scurry 4) Beri-Beri

———————————— W ANR st SHaTacaren

3NATEH 2. 01006)

1) feRn 2) Repeq

3) Thed 4) si3-a

Reverse of boiling is? DO

1) condensation 2) Evaporation

3) Vaporisation 4) freezing

Feeheren fogeg=—-------—- DOR®

1) Hifsweq 2) Srsdiver

3) fereszm 4) T 9aH

Which is non-periodic changes amongst

the following? DOOB®

1) Phases of moon 2) Earth quake

3)Changes of season  4) Beating ofheart

—————————— R CUEECE HREOIOIOLE)

1) =shedl 2) e

3) IS 4) gAh T

chemical changes involves changes in?
0006

1) colour 2) Temperature

3) Energy 4) All of these

T TGAHB-————-————- HEA TS

al. Olelolo

1) 2) d9HH

3) st 4) T SRR

Q.8

Q.8

Q.9

Q.9

Q.10

Q.10

Q.11

Q.11

Q.12

Q.12

Animals which live on land as well as in

water? DOOB®
1) fishes 2) Mammals

3) Reptiles 4) Amphibians
——————— - -2 WUt WHE 9 U1oit 3rdEn
TGRS TER AT, DOB@
1) 78 2) T Tt

3) TRUSUR 1ot 4) 3R

The motion in which all points of the body
move through the same distance in the

same time is? 0016

1) Rotatorymotion  2) Linear motion

3) Circular motion

4) Translatory motion

——————————— Tt Aed Sueie 9d o

TehTel dbt Ushtel fE9iR Te| g,
0000

1) 99T IR 2) Wi TR

3) SBTRR Tl 4) TSR WA

The motion of the arms of a soldiers
marching along the roadis? QR @

1) circular 2) oscillatory

3) Rotatory 4) Non-periodic

Yoo M= B Telt------ -

TR 3T, DOB@

1) TR 2) 3

3) T 4) Tt

An early device used for measuring time
OOO®

1) watch 2) pendulum clock

3) sundials 4) sandglass

IE GHATAEAT HTBTd RIGHUATHTST

—————————— 1 AR hesl S 3T,

1) =t 0000

2) 3 TR TS

3) 9R e

4) eeiiaeH

Which objects Use the Reflection of

light? 0006

1) Periscope 2) Mirror

3) Side mirror ofcar  4) All of these

ATHS d& H1Ud i TR 19l

ST ST &, D2B@
1) & 2) 3RAT
3) SeETdl STREl 4) T SRR




Q.13

Q.13

Q.14

Q.14

Q.15

Q.15

Q.16

Q.16

Q.17

Q.17

Q.18

The shape of shadow depends upon ?

1) size of object 00O
2) position of source of light

3) size of source of light

4) shape of object

HEG T MR- ————————— W IFAGTA
3. D@
1) TgTer SR 2) R B €M

3) TehIY] HAre SRR 4) U= STt

There are following number of polesin a

magnet. DOOB®
1) one 2) two

3) Three 4) four
SR~~~ —————~ & IE.

1T 2 D@
3) A 4) TR

In which of the following a permanent
magnet is not used? DOOB®
1) Magnetic Door 2) Loudspeaker

3) compasses 4) None of these
——————————— LY KEAHEIRUT TSR TN
AR S el D@
1) @IS 2) Eatee

3) BT 4) T A
Fibres are seprated from the seeds of

cotton balls by the process known as ?

0OO]6)
1) wimbling 2) Threading
3) Ginning 4) spinning
RIS ST ————————- UL e
AT S M. D@
1) sFomft 2) W
3) Feuit 4) FTIvATE Y
flax is a/an? DOOB®
1) Animal, fiber 2) synthetic, fiber
3) plant, fiber 4) fabric
S g -2 D@
1) sof, i 2) Fhm, a4
3) STE, T 4) T
The air that we breathing in is a --————- of

gases like carbon dioxide, oxygen,
nitrogen, argon, water, vapour and other

gases ? 0016
1) Mixture 2) Compound
3) Element 4) None of these

Q.18

Q.19

Q.19

Q.20

Q.20

Q.21

Q.21

Q.22

Q.22

Q.23

Q.23

Q.24

3T JATETATE St gall ATehT YRR Srelt
M g wEASE TS, MiFHSH,

AEEISH, IS F TR 3ok gl -————-—

—————— . olololo

1) fgm 2) €91

3) HesA 4) T A

The object which allow to pass most of

the light falling on them are called
0000

1) transparent 2) translucent

3) opaque 4) None of these

w1 Ui TaeATeR USUT HehTs! TRUR

S A e - - - uared e

FRUTAT. 0OIOI0)

1) IR 2) 31

3) SRR 4) TRt

Which is not a part of stem? DQ Q@

1) bud 2) internode

3) rootcap 4) node

——————————— 1 WIS R .

1) 2R D@

3) goserdt 4) quTiER

The image formed in the water is
0000

1) Erect 2) Diminished

3) inverted 4) None of these

UgIatER UTeETies A - - -----—- 3T
0000

1) W 2) AEHH

3) & 4) T A

Which is not the part of leaf?(D QR @

1) Petiole 2) lamina

3) stigma 4) stipule
———————————— 1 TN | AR

1) )™ D@
3) Yo 4) id

Which is not an gas? DODOB@
1) Oxygen 2) carbon dioxide
3) nitrogen 4) ozone
——————————— AT DQOO@
1) idsH 2) FEHE SRS
3) TESH 4) A

Which of the following in an external
organ? 0016




Q.24

Q.25

Q.25

Q.26

Q.26

Q.27

Q.1

Q.1

Q.2

Q.2

1) stomach 2) lungs

3) large intestine 4) mouth

——————————— B IR ST STaad 31,

1) SR 2)sM D@

3) "I e 4) die

Which is non-magnetic substance?
0006

1) iron 2) copper

3) nickel 4) cobalt

—————————— T IEh Ut ITR.

1) orEe )@ DRR@

3) fikes 4) FeTee

---------- is accurate measurement?
0OO]6)

1) Step 2) scale

3) handful 4) span

——————————— 1 HIUATS 9 HIEH 3118 ?
0006

DRSS 2) ATEl

3) B 4) did

Which of the following is not in the family

of citrus fruit? DOOB®

1) Grapes 2) Oranges

3) lemon 4) hibiscus

Q.27

Q.28

Q.28

Q.29

Q.29

Q.30

Q.30

T A SO vEE el DROR)@)
1) s 2) &
3) fosmt 4) SEEi]
Find the odd one out. OOB®
1) Fish 2) man
3) birds 4) water
T A SO vEE .. DOR)@)
1) |/ 2) "™
3) ueft 4) Tt
---------- is natural satellite. DQQR@
1) mercury 2) uranus
3) moon 4) Jupiter
T A SO vEE el DOR)@)
1) ¥ 2) g5
3) =% 4) T®
Which is not a green energy. D2 Q@
1) wind 2) sea waves
3) coal 4) solar energy.
TR A SO vEE el DOR)@)
1) ar 2) &1
3) Pl 4) GRS

Section IV : Intelligence Test (20 Questions, 40 Marks)

o181 1V : ggfenTar aravft (20 194, 40 3o1)

Find the number of time ‘r’ is repeated in

the given series OO0®

abizgmnopznrorxyrst

(1) 4 times (2) 3 times

(3) Stimes (4) 2 times

fecsem mfeseha <r’ ferelt Qe 3T ?
abizgmnopznrorxyrst@@Q3®@
(1) 4 T (2) 3 T

(3) 5 dea (4) 2 @

Find odd term DOOB®
(1)Book (2)Notebook
(3)Newspaper (4)Pencil

fortie wg stiesEn DOB®
(1) Ik 2y

(3 )BT (4)ufee

Q.3

Q.3

Q4

Which of the following would be in the
middle if the following words are arranged

in alphabetical order ? DO20®
Coconut, Bookshelf, Notebook, Eraser,
Policeman

(1) Policeman (2) Bookshelf

(3) Eraser (4) Notebook

R TS 168 ST TUHIGIAR Seedra
HEAVRT R0 9168 55 2 DROD)
Coconut, Bookshelf, Notebook, Eraser,
Policeman
(1)Policeman
(3)Eraser

(2)Bookshelf
(4)Notebook

Addition of numbers in each verticals
lines is same find the missing number.

0[0O]6)




Q4

Q.5

QS5

Q.6

Q.6

Q.7

Q.7

Q.8

Q.8

(H10 )17

(3)13 416

Teeh 3V Wi HEare siist arEte

3R, W uyAfergrea AR FHIUT G

aen? 0000

(H10 )17

(3)13 416

Which of the following is not a condi-

ment? 00O

(1) Jeera (2) Mustard

(3) Cinnamon (4) Hibiscus

WHUeh! ehIUTl FTeaTen Uet TE?

(1) ¥R QTHORQOD

(3) Srfer OEISH

Which of the following building is not in

India? D@

(1)Tajmahal (2)Kutubminar

(3)Whitehouse (4)Shaniwarwada

WSS IV SARG TRATT T2
0000

(1) (2)FqHR

(3)eeTEETSH (4)RTHeRETEl

Which of the following is correct-mean-
ing of the idiom? When in Rome,do as

Romens do: DO

(1) Go to visit Rome

(2) Romans live Rome

(3) One must follows customs of country
(4) None of these

WA UR! SHITTA UATE I hesdl el
Te5H1 N FEUien 319} SRieR Er?

(1) St =IF e qoft S, (DR A @)
(2) T BTN B A TR

(3) STores=it a&q fewd A&l

(4) Tt .

If cooking is frying, baking is called boil-
ing, stirring is called cooking. What would
be called for making a cake?(DQ QR @
(1) boiling (2) baking

(3) frying (4) cooking

IR fYTSTeu! ATt AUt 3T TEes, WISTul AT
I, 3TH TEES I AUt A Tt

Q.9

Q.9

Q.10

Q.10

Q.11

Q.11

Q.12

Q.12

Q.13

3T TS T ek K0 TS FE ?

0000
(1)3Fe0 (29T
(3)de (4 RSt
Which of the following letter does not
have symmentry ? 0016
(DA 2)Q
3)C (“OM
TIATUR! T SHERTTAT T a1 HREAT
Ea? 0000
(DA 2)Q
3)C (“OM
Which of the following is correct ?
0000
TAIGUeh ShITTA HRTUT Ted 3TT?
0000
(1)16+2x4=2 (2)36+3+:13=3
(3)17x5+5=17 (4) 84 - 48 =48

How many quartrilaterals can you see in

the given figure ? OO0®
e 3epidios iehTet T fehdi?

0[0O]6)

(1)24 (2)9
(3)15 (4)18
Smruti went to her school,after turning

twice to the right hand side.If her house
was on the North,In which direction is her

school ? DOB@
(1)South (2)North

(3)East (4)West

e @A ST S 9@ Il A
TG TR foel T IR 9ot 38e. W e
hiuTe fEvien 3me? DORD
(1)afem (2)STR

) (4)afe=m

What is the difference between the num-
bers from 21 to 25 and 41 to 45 ?

(1)150 (2100 D@
(3)125 (D115




Q.13

Q.14

Q.14

Q.15

Q.15

Q.16

Q.16

21 25 37T 41 Q@ 45 TN &N i

ferden weR 2TR? D2BE
(1)150 (2)100
(3)125 4)115

If 2004 started on a Friday. How many
Saturdays would be these in that year ?

(133 232 O200®
(3)51 (4)54

IR 2004 ? oF YRR GE TS WA
w1 FEia fohet IFER FS? DRR@
(1)53 (2)52
(3)51 (4)54
Neelam’s rank in a row is 15th from left

and 17th from right,If Sushma’s rank
from rightis 10th then what would be her

rank from left ? 00O
(1)18th (2)23rd
(3)22nd (D21st
TehT T e shuieh STatehg UETal, T

STElRgA 17 o1 TR, i GoHren
I STATRZA 10 a1 3., a® fa=n

T fehdan sk 3. DOB@)

(D18an (2)23a

(3)22an (4)21=1

If A to then ? O
00O

R Am , TR YA ? O
00O

'e
%

Q.17

If+=s:, + = x, x=-,-=+
then find the value ? 00O
16 x 4-12
(1)16 (2)52
(3)48 (4) 18

Q17 SR+=:,:=x,x =-,-=+ A
THteRtuTTL fohra T ? 00O
16 x 4-12
(1)16 (2)52
(3)48 (4) 18

Q. 18 Which of the following does not belong
to the group. DO20®
(1) coconut (2) Apple
(3) Guava (4) Cherry

Q. 18 &M A SEUR U Al DOB@
(1) TR (2) IHT=R
(3) % (4) =

Q.19

Q.19

Q.20

12549835463278945
How many times the addition of two dig-

its is equal to 9 DOOB®

(15 (2)4

(3)3 (42

12549835463278945

e mifoscha fohdt dest AR TEEt Siw

9 3T ? DRO@

(15 (2)4

(3)3 (42

Which of the following is not required for

School ? 0016

(1)Place (2)Teacher

(3)Student (4)Benches

Q.20 ITTSTHIAT IV S YT T ?

0OO]6)

(1ysmm (2)fRremn

(3)fenedt (4)9h
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